
4x 90038 (S)
2,5x18

(S)

(S)Ord.No. 10/24

4x 90541
2,5mm

Ord.No.5156

4x 90527
M2,5

2x 3942

4x 90541
2,5mm

1

4x 90541
2,5mm

90490 (S)
M2,5

90490 (S)
M2,5

4x 90541
2,5mm

4x 90527
M2,5

2x 3942

Ord.No.5156
4x 90038 (S)
2,5x18

060/7
M2,5x5

(S)

Domergänzung  für PHT3-3
Ord.No.53/17

060/7
M2,5x5

(S)

832/68

8x 060/9 (S)
M3,5 x 9 mm

68/8  (S)
M 3,5

05/06



52/20

90530
M 3

2x 90095
M3x20 (S)

060/7
M2,5x590490 (S)

M2,5

8x 90527
M2,5

8x 90541
2,5mm

2

4x 90038
2,5x18

060/7
M2,5x5

(S)

(S)

!

90081
M3x14 (S)

54/14

JetCat

2x 3942

90490 (S)
M2,5

Ord.No.5156
2x 3942

4x 90541
2,5mm

Ord.No.5156
4x 90038
2,5x18

Ord.No. 10/24 (S)

4x 90541
2,5mm



13 mm

13mm

832/56
3x40

2x 90385
M4x4  (S)

Ord.No.68/4

832/55

2x 90370
M3x4  (S)

Ord.No. 10/24 (S)

3

832/56
3x40

Ø 5,5mm

Ø 4,8mm

4x

0°

Ord.No.11/73
Ø 2,8mm

107/17
2,5mm

107/31
3mm

70/130
3 x 130mm



107/31
3mm

107/31
3mm

107/31
3mm

2x

107/31
3mm

M 1:1

Ord.No. 70/130
Ø3

Ord.No. 70/130
Ø3

107/31
3mm

90490 
M2,5 (S)

Pitchkompensator für 12mm Rotorwelle
Ord.No. 722/71

90541

90295  
M2,5x14

2x 85/1
4x6x1,5

90295  
M2,5x14

107/14

2x 85/1
4x6x1,5

4

Ord.No.
70/150
Ø3x150

Ord.No. 70/121
Ø3

90490 
M2,5 (S)

90541

107/31
3mm

107/14

107/31
3mm

Ord.No. 70/121
Ø3

107/31
3mm


